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QUESTION 1

Why should package names in Java be unique? 

A. to programatically declare specific ownership of classes in the package 

B. to allow classes in the package to be accessed by classes outside of that package 

C. to provide the Internet location from which the package can be downloaded 

D. to avoid class name conflicts if two development groups use the same package and class names 

Correct Answer: D 

 

QUESTION 2

Given: 

1.

 public interface Player { 

2.

 // insert code here 

3.

 // insert code here 

4.

 } 

5.

 class F implements Player { 

6.

 public void play(){ 

7.

 // ... 

8.

 } 

9.

 public void stop(){ 
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10.

 // ... 

11.

 } 

12.

 } 

Which two, inserted independently at lines 2 and 3, allow the code to compile? (Choose two.) 

A. void play();void stop(); 

B. final void play();final void stop(); 

C. public void play();public void stop(); 

D. void play();int stop(); 

E. static void play();static void stop(); 

F. private void play();private void stop(); 

Correct Answer: AC 

 

QUESTION 3

Which two are valid? (Choose two.) 

A. class EnumTest {public static void main(String args[]) {enum Num { ONE, TWO, THREE, FOUR }
System.out.println(Num.ONE);} 

B. class EnumTest {enum Days { Sat, Sun, Mon, Tue, Wed, Thu, Fri }public static void main(String args[])
{System.out.println(Days.Sat);} 

C. class EnumTest {enum Colors { Red = 1, Green = 2, Blue = 4, Yellow = 8 }public static void main(String args[])
{System.out.println(Colors.Red);} 

D. enum Suit { CLUBS, DIAMONDS, HEARTS, SPADES }class EnumTest {public static void main(String args[])
{System.out.println(Suit.CLUBS);} 

Correct Answer: BD 

 

QUESTION 4

What is the purpose of JNDI? 

A. to access native code from a Java application 

B. to parse XML documents 
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C. to access various directory services using a single interface 

D. to register Java Web Start applications with a web server 

Correct Answer: C 

 

QUESTION 5

Which two are true about the relationship "A keyboard has 101 keys."? (Choose two.) 

A. This is a many-to-many relationship. 

B. This is a composition relationship. 

C. This is a not a composition relationship. 

D. This is a one-to-one relationship. 

E. This is a one-to-many relationship. 

Correct Answer: BE 
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